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~tl 1l1'ff section---------------- -----------

...•
IWfllA'VI 1 (30 A~LL'W'W)

'f)1fL~tJ (Array) LL~~~l?I1\l(String)

"1. '"l\ll?l'f)1J~1m~l?1'f)hJ_n(6 A~LL'W'W)

1.1 '"l1nm~1J~~mPl~'JLL1.h int A[3] [5] = {lO,5,67,8,9,45,2,O,4,6,88,99,1,5};

- A[2][1] = .

<V • I [2][] " 'I" I 0 I ~- l?I'JLLu~A 1 l?I'f)\l~"JlVl'W'JtJA'J1~'"l1"l1'W1~L'Vl1~~ .

"
1.2 '"l1n~'JLLlh float B[ ][4] = {{2.3},{5.2,3.4,5.0}}; 1~\~tJw·h"ll'f)\l~'JLLlh B vi\lVl~~

L"ll'WB[O][O] = ? , B[0][1] = ? ... '"l'Wm~~\l~\l~'JLL1J~B ~'J~~Vf1tJ,

"t~W11V1'W~~'JLL1J~~\l_nfloat volume [2] [3] [4] ;

1.4ii1V1'W~~'JLL1J~char name [3] [lO]={ "abcdef", "ghijklmn"};

name[0][3] =
name[0][6] =
name[1][4] =
name[1][8] =



~tl ':i'l1TI' section

2. "'l'lL~tJt.l~'J'U"lI'fl,:Ii:t1~bl.n~3J [;]!lhJ~ (LfJW1::r:9'J't.f#rtOiYlV"r7TWWPILUrl1)
VI~1tJL VlVI ~13-J1~m~t.m L-dW-:lfffutOi1n String Library 1~•

o
••11m).!

2.1 iil'V1t.l~1~~'JLLU~"Jlij~~It.l'Jt.lL~)'!Ltlt.l!llfL~6 2 mi
H1LLfl~'JLLU~A[2][2] LL~:;B[2][2]

* tOi-JLL~PI-Jri 1CJ~lJ'J n"lIfl-J~fl-J PI'Jmh( CJ~lJ'J n"lIfl-J~~~L3-JUP1...,J... •..
YlPlNnU"llfl-J A nlJ B)

scores[3][7] = { {84, 71, 96, 65, 79},{90, 55, 83, 68,

96},{61, 77,82,94, 59}};

* tOi-Jri1U'J ruCJ~~'J3-JL'WLLI;f~::LLmLL~::LL~PI-JCJmfw{

2.3 iiTVIt.l~1~~'JLLlh:n!lchar x[10] = "ABCDE"; LL~:;

char y[20] = "A 1B2C3";

* LULL~Pl-Jri1f1'J13-JtJ1'J"llfl-J~P1!'-Jx LL~:: y flflnYl1-JtOifll71W

LL~'Jn1V1UPlri1 LVlurflJPI'Jmh y LUULumuflurflJPI'Jmh X

2.4 "'llnm~u~:;mfll~'JLLlh char Rose[10] = "WATER";

LL~:;char Orchid[15] = "soi/";

* tOi-JL:DEJuri1i-Jn1V1UPlfh LUPl'Jmh Orchid iJri1

LrhrflJ" soil WATER" LL~'JLL~PI-Jri1P1'Jmhi-J~fl-JPI'Jflfln



~t) ':il1ff section

3. '"l-:)L~hll1hLLnn.J1~~~uJ'(11(5 fO\:;LLklkl)
'"

#include <stdio.h>
#define NUM STUDENTS
#define NUM TESTS

{85, 50, 75},
{80, 91, 95} };

int num students = 2;
int num tests = 3;
int high_test;

printf("The highest score is %d.\n", high_test );
getch();
return 0;

}
int get_highest(int a[] [NUM_TESTS], int row, int col)
/* Assumes that there is at least one element */
{

int i, j;
int highest

for ( i = 0; i++)

for( j 0; j++)

if (



Input of matrix elements
Input element [0] [0] 1
Input element [0] [1] 2
Input element [0] [2] 3
Input element [1] [0] 4
Input element [1] [1] 5
Input element [1] [2] 6
Input element [2] [0] 7
Input element [2] [1] 8
Input element [2] [2] 9

'" '" ""UI J a n'l'1'H fltN 'W1J1

~a rh if u1 iiJ au
'lJ

1l1'nuTthuw:i3J

Matrix
1 2
4 5
7 8

before transposing
3
6
9

Matrix
1 4
2 5
3 6

after transposing
7
8
9



/******* * * * * * * ***** ~t11P1'£1'UV: 1 **** * * * * * * * * * * * * * */



~v 'Jl1f1' section
...•

U1'£l'U'VI 2 (30 Fl~bb'W'W)

'i:Fl~\~~¥1'lo]'f)~~(Structure)••

1. '"l.:lUtl12J Structure ~1'V1~Ubnuntl~:;b~t1~~tltl'W1?I1~t11~'f)~1car iJ~~1~n 4 ~'J~'f)brand ~1'V1~UbnU
dy,., tr Go' Go' 0 QI' c; d I Q,,;' IV 0 ev c; ~
t1'V1'f)~tltl'Wl?I(20 1?I'J'f)m~~)model ~1'V1~UbnU"1l'f)~'W"lI'f)'l~tl(30 1?I'J'f)m~~)color ~1'V1~UbnUMtl(30

~'J'ein1j'~)bb~:;year ~1'V1~UbnutlFl.f'l.~~~1?I'VI~'liOl1nUm~iStlu~'f)mb~'J1~t1'i~n1fll~,;)LLtI'i mycar



·~ 1~ ~~oo------------------ ------------
6. '"l'l b~~~':rW"1J!l'lttJmm'~~ iht.n,ll?l Ll?lUL1Jmm'~il [1]')bb1J)'point 2 [1]')[1],)Vl~'lnI'V!'Wl?lfOl1~~ l~hJ(;l!l'W

" I ,

1J)':;m P\[1]')bb1J)'(Ll?lUL'IX~1 bbVlt.l'lVinl?l(x,y) bU'W1 0 bb~:;20 (;l1~~1 ~'l.Jbb~:;[1]'l~!l~1~l?lB 1) ~n [1]')VlU'l

" "n1Vl'Wl?lfOl1'"l1nm~~unH'l1'WVi'ln-n'W setPointO '"l1n'l!'W'V1l?l~!lU~1'i'l2 ~l?lilfOl1~1bbVltl'lVinl?l(x,y)

bVl~!l'Wn'WVl1!l1~lh~1bbVltl'l~nl?l (x,y) (;lNn'W'"l:;~'WfOl1bU'W1 lhj;j1'ln'W'"l:;~'WfOl10 (12 f):;bb'W'W)

#include <stdio.h>
#include <string.h>

II ilml-JLr1N~h:Jejf'tld;!~1vnn~il~'tl~1 point
II LniJrh~ILLVlll'l'"l(;l (x,y)

II LniJ~'tl"l(;lL'll'WA 1, B1,char pointName[20];
point;

poin t A, B . ._._.........._
A = setPoint(10,15,"Al");
if (isSamePoint(A,B) == 1)

printf("A and B are the same point.\n");
else

printf("A and B are not the same point.\n");
return 0;

}
int isSamePoint



~tl 'j'l1'ff section------------------ ------------
7. tiol1nhhLLn:i'3J~h'W~1'1 tiol'l[Wa1J~1m3J-if'fl7.1 - 7.3

typedef struct {
int day,month,year;

} date;

int main() {
date dl = {1,10,2012};
edit(dl);
printf("%d/%d/%d\n",dl.day,dl.month,dl.year);
return 0;

I I '" I

7.2 tiol'lUf1J1J~'1~'1n-n'WeditO LY1'fl1~~TI1J'fl'l~'JLLU:i'd1.year ~~1L~3J~'Wtiol1m~3J 20 11 Lil'fl~unH''11'W

/* * * * * * * * * * * * * * * * * * '"!\JIWelUY! 2 * * * * * * * * * * * * * * * * * */
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.d

IW£I'L.I'VI 3 (30 f):;bbklkl)

bi.JnbnnJiJ~:;rJn~•
Simple Sudoku Ln3J'1iL(;ln'£l!h.:l~1!1

'" . >-

IWW1'l"1lkl1l?14x4 bb~~:;"J!'fl'lb~~~':lrJr11~':lb~"1I1-4 Ll?IrJLklbb~~:;bbmbb~:;bb~~:;f)'fl~~,r lOl::;ij~':lb~"1I1.,.]en1

nklb"J!kl

1 2 3 4
3 4 1 2
2 1 4 3
4 3 2 1

3 4 2 1
4 2 1 3
2 1 3 4
1 3 4 2

m~b~klbn~ Simple Sudoku IOl:;L~1?l1~1'l'\"l¥'fl~~':lb~"1Ibb~:;btj'klH1 "J!'fl'lb~'flL~'VI1~11?l'fllJ~1~':lb~"1I~
>-

'VI1rJ1.iJ~'fl'fl::;hbb~::;L~1?l~':lIOl~'fllJ~':lrJ~11?l1~1'l'l!klijf)ru~~~ bUkl8JlLl?In'VI1'fl1.,.]b"J!kl
• 'lJ •

1 2 3 4
4 1 2

2 1 4 3
4 3 2 1

3 4 1 2
4 2 3
2 1 3 4
1 3 4 1

I >-

~':lkl Table B 1."]d:JklI?l1~1'lSudoku b'\"l~1:;bbmVl4ij~':lb~"1Ien1nkl

1Ol'lb~rJklhhbbm~ b~klbn~ Simple Sudoku Ll?IrJL~ b~rJkl~':lkl~1'l1"11'fl'lLiJnbm~ ~'l ~'fl1.tle

1. lOl'lUm~Lf)H~¥1'lO]'fl~~(struct) ~1'V1¥lJbnlJI?l1n'lSudoku Lmf)N~¥1'lO]'fl~~ij~'fl~1 sudokuTable ~'lij
'lJ 'lJ

~~1~n 2 ~':l iJ~:;n'fllJ~':lrJ table d:Jkl'fl1fmJ 2 mi HbnlJr11~':lb~"1ILklI?l1n'l,bb~::;isSudoku bnlJr111 'VI1'fl0

(1Ol1''l'VI1'flbViIOl)bri'fl1.~'Vll?l~'fllJbb~':l~1bUklI?l1~1'lSudoku 'VI1'fl1.,.] (5 f)::;bbklkl)



2. '"l'lL~tJ'l..I'Um~'W'Ini'WinputSudokuTable ~~'f)1Jm~L~~-n~l"11~'JL'&'l"II1-4L'W19l1n'l~1'Vl~1J"jI'f)'1~L~'W

'" '"
~1'1Lm~l"110 LL~'JLn1JHi.'W~'JLLtJJ'"ilU(;)sudokuTable '"l1m!'W'W'Ini'Wreturn .jJ'f)~'&'l,r'W(6 f'\:;LL'W'W)••

~1mh~m'l'Yhn'U'll f)~VJ'In~'U(~1l1'WlL~hJ'I~f)~h~~l.;ta)
Input elements of 4x4 Sudoku table
row 1: 1 2 3 4
row 2: 0 4 1 2
row 3: 2 1 4 3
row 4: 4 3 2 1

ijm:lJ'llf)~VJ~n~'U

sudokuTable inputSudokuTable(void)
{

3. '"l'lL~tJ'UUm~'W'Ini'UshowSudoku ~LL~(;)'1l9l1J'1'1Sudoku (4 f'\:;LL'W'W)

~1mh~m'll'h~1'U'llf)~VJ~n~'U (~lf)~l~'limJ~~l'll~ Sudoku ~~l.;tal'U'lif) 2.)

1 234
o 4 1 2
2 143
432 1



ihn:lJ'lJf),rw~n-a''U
void showSudoku(sudokuTable t)
{

4. ~~L;]t1'UUm3-JYJ'~n-n'UcheckSudoku ~f1J-if'fl3-J~"J1U~sudokuTable ~'l'UV'l')J''lijLI?1'flfLL~::;I?1J''J~~'fl1J~'lij
'lJ

rHu~3-JUiLtI'UI?1'lJ''l~ Sudoku 'Vi~'flhJl~R'Wrh 1 ll'lLtI'WI?1'lJ''l~Sudoku LL~::;R'W~h 0 ll'lhl1"J!
q

...
'ifin'lJ'I?1J''J~~'fl1J l~I?1J''J~~l1i'JL~''lIl'WLLI?l~::;LLmLL~::;LLI?l~::;~~n~'lijroi'lJ'::;~~'l~ 1-4 LL~::;ijl1i'JL~"lIhJ~'ln'W1~

'lJ

t1m1''UhJrJ1'fl~I?1J''J~~'fl1JLLm~1'fl~~n ~ijroi'l 0 'fltJ (L~J''l::;LtI'W"J!'f)~~'l~~rJ1'fl~L~3-J)(8 R::;LL'W'W)
'lJ

ijU1:lJ'lJf)~VJ~n-a''U
int checkSudoku(sudokuTable t)
{



~u 'i'l1{l section

5. '"l\lb;]t1'1..lUm~Yl',111_n'l..lsolveSudoku ~V11~1IWEl1J"lI'el\lrn1n\lSudoku ~iJ"ll'el\l~1\1V1ti\l"ll'el\lYl'\In_n'l..l'"l:;

return 1"11~,)b~"lI~'"l:;~'el\lb~~1'1..lrn1n\lbbV1'1..l~1"110 V11nhJ~1~1~t'lVl11"11~bVl~1:;~~t~1~ return 1"11-1

b"ll'l..l

1 2 3 4
0 4 1 2
2 1 4 3
4 3 2 1

3 4 2 0
4 2 1 3
2 1 3 4
1 3 4 1

Table A 1"110 'el~l'1..lbbm~2 f)'el~~,r~ 1 l'1..lbbm~2 tJ\I"lI1(;lb~"lI3 bb~:;'"l1nf)'el~~,r ~ 1 tJ\I"lI1(;lb~"lI3 ~\1

rnNn'l..lYi'el~t~~1rn'el1J"lI'el\lrn1~1\1Sudoku ~'el 3 Yl'\In_n'l..l9:;return 1"113

~,)'I..lTable C 1"110 'el~l'1..lbbm~1 f)'el~~,r~ 4 l'1..lbbm~1 tJ\I"lI1(;lb~"lI1 bbl?ll'1..lf)'el~~,r~4 tJ\I"lI1(;lb~"lI2 ~\1
~ I ~

bbrnnl?l1\1n'l..l~\I,r'l..l9\1hJiJ~1rn'el1JVlbVl~1:;~~~1V1~1Jrn1~1\1UYl'\In_n'l..l9:;return 1"11-1 (7 f):;bb'l..l'l..l)

ijm3J'lIf)~VJ~ni'lJ

int solveSudoku(sudokuTable t)
{



, I .-

l'i'".J'Elth.:JttJJ'LmnJVI~n 1'Wmn~'WLn~ Simple Sudoku VliJmJ'~tJn 1-ifYI'lfli'Wl111-.:J1Vl~h-.:J~'W1'W-if'El1-5

int main ()
{ sudokuTable st;

int r,c,x,y,z;
st = inputSudokuTable();
printf("Sudoku Table before solve\n");
showSudoku (st);
st.isSudoku = checkSudoku(st);
if (st.isSudoku == 0)
{

}
else

for(r=0;r<4;r++)
for(c=0;c<4;c++)

if (st.table[r] [c]==O)
{

}
st.table[x] [y] = solveSudoku(st);
if(st.table[x] [y]!=-1)

printf ("\nSolution = %d\n", st.table [x][y]);
printf("Sudoku Table after solve\n");
showSudoku(st);

}
return 0;


